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BEGIN_MESSAGE_MAP(CSF3stView, CView)
ON_WM_TIMER()
ON_COMMAND(ID_DYN_START, OnDynStart)
ON_COMMAND(ID_DYN_STOP, OnDynStop)
ON_MESSAGE(1DS_MESSAGE_WIND, OnMessageWind)

END_MESSAGE_MAP()

1/

// e
//

//

void CSF31View: :0OnDynStart()

{

if(F_ontimer == 1) return;
F_ontimer = 1;
F_hwnd_timer = this->GetSafeHwnd();
CWnd* pwnd =FromHandle( F_hwnd_timer);
F_operation=2;

F Time=0;
F_time_ii = 0;
sf3lload. m_data_set ok = TRUE;
//
// ® [ Speed = 0.04
//
F_timer_exe = pwnd->SetTimer(1,F_Speed,NULL);
if ( F_timer_exe == 0) MessageBox(" System cannot install timer!!");
}
//
// o
//
//
// L) OnTimer
//
//
void CSFf31View: :OnTimer(UINT nIDEvent)
{
//
// o
//

F Time = F_Time + F_delt_cl*FI_Speed;
F _time_ii = F_time_ii +FI_Speed;

//

// o

//
if(F_Time > F_all_time+ F_delt _cl1*0.1) {
OnDynStop() ;
return;
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}
//
// o
//
if(fno_yy 1= 0){ // fno_yy:
for(int i = 0; i<fno_yy; i++){
HWND hWnd;
int fno_yx = i+1;
int fno_xy = getwindx((long)fno_yx);
hWnd =getwindh((long)fno_yx);
LONG IParam = fno_yx;
//
// o
//
if(fno_xy > 0)::SendMessage(hWnd, IDS_MESSAGE_WIND,0, IParam);
}
}
}
CView: :OnTimer(nlIDEvent);
}
//
// o
//
//
// e OnMessageWind
//
//
LONG CSf31View: :OnMessageWind(UINT wParam, LONG IParam)
{
//
// o
//
LONG d_han = 1;

int fno_yx = IParam;

int ii = fno_yx-1;

HWND hWnd = this->GetSafeHwnd();

if(checkhwnd(hWnd,ii) == FALSE) return (d_han);

if(::Islconic(hWnd)) return (d_han);

CWnd* pWnd = CWnd: :FromHandle(hWnd);

CClientDC dc(pWnd);

int fno_xy = getwindx((long)fno_yx);

int fno_xxx = getwindy((long)fno_yx);

int ihan =0;

if(F_Time <= F_delt_cl) ihan=-1;
//
// o
//
switch (fno_xy){
//
// o
//
case STRUCT:

iT( fno_xxx == 0) pre_disp_mem_persp(hWnd, ii);

if( fno_xxx == 1 && F_time_ii <= m_nstep) pre3_disp_mem persp(hWnd,ii);
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if( fno_xxx == 2) pred_disp_mem_persp(hWnd,ii);

if( fno_xxx == 4 && F_time_ii <= m_nstep) pre5_disp_mem_persp(hWnd, ii);
if( fno_xxx == 5 && F_time_ii <= m_nstep) pre6_disp_mem_persp(hWnd,ii);

break;
//

// e
//
case WAVE:

if(m_dat_struct == 0) sf3lwave.set wave_dat((CDC*)&dc, hWnd, F_Time,ihan);
if(m_dat_struct == 2) sf3lshear.set_wave_dat((CDC*)&dc, hWnd, F_Time,ihan);

break;

//

// [

//

case SLOAD:
sf3lload.set_load_dat((CDC*)&dc, hWnd, F_Time,ihan);
break;

//

// ]

//

case STRESS:
if( F_time_ii <= m_nstep) set_member_frame((CDC*)&dc);

break;
//
// ®o
//

case SECTION:

if( F_time_ii < m_nstep) Section.Section_member_frame((CDC*)&dc, hWnd, F_Time,ihan);

break;

//
// e
//
default:
break;

}
d han = 0;
return(d_han);

}

127
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131

//
// L
//

//
void CSf31View: :OnDynStop()

{
if(CKillTimer(F_hwnd_timer,F_timer_exe )){
F_ontimer = 0;

}
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fno_ xxx
27
28
29
30
31
32
33 2KillTimer()
//
// )
//
void CSF31View: :OnDynReset()
{
if(F_ontimer == 1) return;
F ontimer = 1;
F_hwnd_timer = this->GetSafeHwnd();
CWnd* pwnd =FromHandle( F_hwnd_timer);
F_operation=2;
// F Speed = 0.04;
F_timer_exe = pwnd->SetTimer (1,F_Speed,NULL);
if ( F_timer_exe == 0) MessageBox(" System cannot install timer!!");
}
//
// - 10 /

void CSF31View: :0nDynStepX()

{

if(F_ontimer == 1) return;

F_operation=2;

int deltx = 10;

if(F_Time + F_delt_cl*deltx> F_all_time+ F_delt _c1*0.01) {
return;

Yelse{

F Time = F_Time + F_delt_cl*deltx;

F time_ii = F_time_ii +deltx;

}

if(fno_yy !'= 0){

10
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for(int i = 0; i<fno_yy; i++){
HWND hWnd;
int fno_yx = i+l1;
int fno_xy = getwindx((long)fno_yx);
hWnd =getwindh((long)fno_yx);
LONG IParam = fno_yx;
if(fno_xy > 0)::SendMessage(hWnd, IDS_MESSAGE_WIND,OQ, IParam);

}
}
}
//
// o
//
void CSF31View: :0nDynStep()
{ 1
if(F_ontimer == 1) return;
F_operation=2;
if(F_Time + F_ delt_cl> F_all_time+ F_delt_cl*0.01) {
return;
Yelse{ 1
F Time = F_Time + F_delt_cl*FI_Speed;
F_time_ii = F_time_ii + FI_Speed;
}
if(fno_yy !'= 0){
for(int i = 0; i<fno_yy; i++){ 1
HWND hWnd;
int fno_yx = i+1; \\\»
int fno_xy = getwindx((long)fno_yx);
hWnd =getwindh((long)fno_yx);
LONG IParam = fno_yx;
if(fno_xy > 0)::SendMessage(hWnd, IDS_MESSAGE_WIND, O, IParam);
}
}
}
//
// o
//
//
void CSF31View: :OnDynBack()
{ 10

F_operation=2;

if(F_ontimer == 1) return;
F_hwnd_timer = this->GetSafeHwnd();
CWnd* pwnd =FromHandle( F_hwnd_timer);

F_operation=2; 10

if(F_time_ii == 1){

return;

}

F Time = F_Time - 10*F_delt_cl;

F time_ii = F_time_ii - 10; 10

if(F_time ii <1) {
F Time = F_delt_cl; \\\>
F_time_ii =1;

}
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if(fno_yy != 0){
for(int i = 0; i<fno_yy; i++){
HWND hWnd;
int fno_yx = i+l;
int fno_xy = getwindx((long)fno_yx);
hWnd =getwindh((long)fno_yx);
LONG IParam = fno_yx;
if(fno_xy > 0)::SendMessage(hWnd, IDS_MESSAGE_WIND, O, IParam);
}
}
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VRAM
RAM RAM
VRAM

//
// e
//
void CSf31View: :pre3_disp_mem_persp(HWND hWnd,int ii)
{

CWnd* pWnd = CWnd: :FromHandle(hWnd); pWind

CClientDC dc(pWnd);
disp2_mem_persp((CDC*)&dc);
return;

b
//

// e
//

void CSf31View: :disp2_mem_persp(CDC* pDC)
{

//
// L

//
CDC* pMemDC = new CDC;
HWND hWnd=WindowFromDC(pDC->m_hDC);
if(IsWindow(hWnd) == FALSE)
{
delete pMemDC;
return;

}

VRAM T

SPACE



4-13

//
1/
1/

1/
1/
1/

1/
1/
1/

//
1/
//

//
//
1/

CRect rcFrame;

::GetClientRect(hWnd ,&rcFrame);
pMemDC->CreateCompatibleDC(pDC);
CBitmap *pMemBitmap = new CBitmap;

pMemBitmap -> CreateCompatibleBitmap(pDC, rcFrame.right,rcFrame.bottom);

CBitmap *poldBitmap =(CBitmap*)pMemDC -> SelectObject(pMemBitmap);

int iww,iwh;
iw = rcFrame.right;
iwh = rcFrame.bottom;

F_pos[0][0]=0;
F_pos[1][0]=0;
F_pos[O][1]=iww;

F_pos[1][1]=iwh;

disp_frame_w(pMemDC);

N R R

[ J
if(m_pst_dis == 0){
TOSHIP(&F_time_i1i,F_disp,&F_all_step,posit,&node,&m_rr[0][0],
F bz,&F pos[0][0],&F_amx,&F amy,
iconsb,&mnbsb, imeme,&F_scalep[2],&m_base[0],&m_pst_disp);
}
if(m_pst_dis == 1){
TOSHIP(&F_time_ii,F_vel ,&F all_step,posit,&node,&m_rr[0][0],
F bz,&F pos[0][0],&F_amx,&F amy,
iconsb,&mnbsb, imeme,&F_scalep[1],&m_base[0],&m_pst_disp);
}
if(m_pst_dis == 2){
TOSHIP(&F_time_ii,F_acc,&F_all_step,posit,&node,&m_rr[0][0],
F bz,&F pos[0][0],&F_amx,&F amy,
iconsh,&mnbsb, imeme,&F_scalep[0],&m_base[0],&m_pst_disp);
}
if(m_pst_dis == 3){
TOSHIP(&F_time_ii,F_accab,&F_all_step,posit,&node,&m _rr[0][0],
F_bz,&F pos[0][0],&F _amx,&F _amy,
iconsh,&mnbsb, imeme,&F_scalep[0],&m_base[0],&m_pst_disp);
}
[ J
if(m_pst_color == 0) disp_graph_1(pMemDC);
if(m_pst_color != 0) disp_graph_5(pMemDC);
if(m_pst_hinge == 1) disp_graph_4(pMemDC);
if(m_pst_graph != 0 || m_pst_arrow != 0) disp_graph_7(pMemDC);
- VRAM VRAM

pDC->BitBIt(0,0, iww, iwh,pMemDC,0,0,SRCCOPY);
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//
// L
//

delete pMemDC->SelectObject(poldBitmap);

delete pMemDC;
}

pre3_disp_mem_persp()
disp2_mem_persp()
disp2_mem_persp()
RAM
13
pMemDC
F_pos[]
disp_frame_w(pMemDC)
m_pst_color
m_pst_hinge m_pst_graph
m_pst_arrow
oDC->BitBIt() o
VRAM
SPACE
FORTRAN
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OO OO0

195

332

334

subroutine toship(itime,fdisp,iallt,bzz,iset,rr,gxy,

* idpos,amx,amy, ij,memb, jic,amp,px, ipdisp)

dimension bzz(3,iset),igpn(iset),ij(2,memb),jic(memb)
dimension idpos(2,2),gxy(2,iset),rr(4,4)

dimension fdisp(3,iset),px(3)
BX=(idpos(1,1)+idpos(2,1))*0.5+amx
BY=(idpos(1,2)+idpos(2,2))*0.5+amy

call dispgx(bzz,iset,rr,gxy,Bx,By,fdisp,amp,px, ipdisp)
return

end

e  SUBROUTINE /dispgx

subroutine dispgx(bzz,iset,rr,

* gxy,Bx, By, fdisp,amp,px, ipdisp)

REAL*4 bzz(3,iset),px(3)
dimension gxy(2,iset),rr(4,4),fdisp(3,iset),gg(3)
goto(991,992,993,994,995), ipdisp+1

continue
do 330 il=1,iset

11

do 195 ki=1,3 3
gg(ki)=bzz(ki,il)-px(ki)+ amp*fdisp(ki,il)
continue

sum=rr(4,4) 2

do 332 j=1,3

sum=sum+gg(J)*rr(j,4) amp
continue

if (abs(sum) .ge. 0.00001) then

axyQ

ch=1./sum

else

ch=100000.

endif

sum=0.

summ=0.

do 334 j=1,3
sum=sum+gg(j)*rr(g,1)
summ=summ+gg () *rr(j,3)
continue

gxy(1, i1)=sum*ch+BX
gxy(2, i1)=-summ*ch+BY
continue

return

continue

do 1330 il=1,iset
g9(1)=bzz(1,i1)-px(1)+ amp*fdisp(l,il)
99(2)=bzz(2,i1)-px(2)

99(3)=bzz(3, i1)-px(3) 2
sum=rr(4,4) 90O
do 1332 j=1,3
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sum=sum+gg(J)*rr(j,4)
1332 continue
if (abs(sum) .ge. 0.00001) then
ch=1./sum
else
ch=100000.
endif
sum=0.
summ=0.
do 1334 j=1,3
sum=sum+gg(j)*rr(g,1)
summ=summ+gg () *rr(j,3)
1334 continue
gxy(1, il)=sum*ch+BX
gxy(2, i1)=-summ*ch+BY
1330 continue
return
993 continue
do 2330 il=1,iset
99(1)=bzz(1,i1)-px(1)
09(2)=bzz(2,11)-px(2)+ amp*fdisp(2,il)
99(3)=bzz(3,i1)-px(3)
sum=rr(4,4)
do 2332 j=1,3
sum=sum+gg(J)*rr(j,4)
2332 continue
if (abs(sum) .ge. 0.00001) then
ch=1./sum
else
ch=100000.
endif
sum=0.
summ=0.
do 2334 j=1,3
sum=sum+gg(J)*rr(j,1)
summ=summ+gg(J)*rr(j,3)
2334 continue
gxy(1, il)=sum*ch+BX
gxy(2, i1)=-summ*ch+BY
2330 continue
return
994 continue
do 3330 i1=1,iset
99(1)=bzz(1,11)-px(1)
99(2)=bzz(2,11)-px(2)
g99(3)=bzz (3, i1)-px(3)+ amp*fdisp(3,il)
sum=rr(4,4)
do 3332 j=1,3
sum=sum+gg(J)*rr(j,4)
3332 continue
if (abs(sum) .ge. 0.00001) then
ch=1./sum

110

axyQ

xyO
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3334

4332

4334

4330

else

ch=100000.

endif

sum=0.

summ=0.

do 3334 j=1,3
sum=sum+gg(j)*rr(g,1)
summ=summ+gg(J)*rr(j,3)
continue

gxy(1, i1)=sum*ch+BX
gxy(2, i1)=-summ*ch+BY
continue

return

continue
do 4330 il=1,iset
99(1)=bzz(1,i1)-px(1)
99(2)=bzz(2,i1)-px(2)
99(3)=bzz(3,i1)-px(3)
sum=rr(4,4)
do 4332 j=1,3
sum=sum+gg(J)*rr(j,4)
continue

if (abs(sum) .ge. 0.00001) then
ch=1./sum

else

ch=100000.

endif

sum=0.

summ=0.

do 4334 j=1,3
sum=sum+gg(j)*rr(J,1)
summ=summ+gg(J)*rr(j,3)
continue

gxy(1, i1)=sum*ch+BX
gxy(2, i1)=-summ*ch+BY
continue

return

end

*\\\ 112

xyQ

amx

amy

idpos[]

Bzz(3,iset)
px(3)
oxy(2,iset)
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rr(4,4) :
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disp_frame_w() //
disp_graph 50 //
disp_graph_4() //

4.4

//

// o

//

void CSf31View: :disp_frame_w(CDC* pDC)
{

CRgn theRgn;
theRgn.CreateRectRgn (F_pos[0][0],F_pos[1][0],
F_pos[0][1].F_pos[1][1D);
int 11,i2,i3;
switch (m_dat_struct){
case 0:
11=20;
12=20;
13=20;
break;
case 1:
11=20;
12=20;
13=22;
if(m_pst_color != 0){
if( m_pst_dis == 0){
11=10;
12=30;
13=120;

case 4:
11=30;
12=140;
13=190;
break;
default:
11=200;
12=200;
13=200;
}
CBrush MyBrush( RGB(il,i2,i3));
CBrush* pOldBrush = pDC->SelectObject(&MyBrush);
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pDC->FillRgn (&theRgn,&MyBrush);
pDC->SelectObject(pOldBrush);
MyBrush.DeleteObject();
pOldBrush->DeleteObject();

}
//
// o
//
void CST31View: :disp_graph_5(CDC* pDC)
{
CPen NewPen (PS_SOLID,1,RGB(0,0,255));
CPen* pOriginalPen = pDC->SelectObject ( &NewPen);
//
// o
//
if(m_pst_mass = 0){
int ix_f,iy f;
pDC->SelectObject ( &NewPenx_a[107]);
for(int i = 0; i < node; i++){
int i1ik=node;
if(F_mass[i+iik] '= 0){
ix_f = F_ bz[i*2];
iy_f = F bz[i*2+1];
pDC->Arc(ix_f-5,iy_f-5,ix_f+5,iy_f+5,ix_f-5,iy _f,ix_f-5,iy_f);
b3
}
//
// o
//
pDC->SelectObject ( &NewPen);
if(m_pst_color == 1 && m_pst_options == 0 ){
int il,i2,13,icol,mem,mmx, itype,ichi,mem line;
float anp;
for( int 1 = 0; i < mnbsb; i++)
{
mem = imeme[i]-1;
itype = mtype[mem];
ichi=1;
if(itype == 2 || itype == 4 ) ichi = 2;
mmx = 5*mem+ichi-1;
anp = F_snp[mmx];
STCLSP(&icol,&i,&F_time_ii,F_n_spring,&ichi,&mnbsb,&m_nstep,&anp);
//
// o
//
pDC->SelectObject ( &NewPenx_a[icol]); i2
i3 = 1*2;
il = (iconsb[i3]-1)*2;
i2 = (iconsb[i3+1]-1)*2; pDC->MoveTo
pDC->MoveTo ( (int)F_bz[il], (int)F_bz[il+l] );
pDC->LineTo ( (int)F_bz[i2], (int)F_bz[i2+1] );
}
}
//

=)

pDC->LineTo

/
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1/
1/

}
//

1/
1/

//
//

if(m_pst_color == 2 && m_pst_options == 0 ){
int i11,i2,13,icol,mem,ichi;
float xx1,yyl,xx2,yy2,x1,x2,X3;
int meml,itype,mmx,jj,iix,memm;
iix =1;
1i=3;
for( int i = 0; i < mnbsb; i++)
{
memm=i+1;
meml = imeme[i];
itype = mtype[meml-1];
mmx = 5*(meml-1);
i3 = 1*2;
il = (iconsb[i3]-1)*2;
i2 = (iconsb[i3+1]-1)*2;
xx1 = F_bz[il];
yyl = F _bz[il+1];
xx2 = F_bz[i2];
yy2 = F_bz[i2+1] ;
if(itype == 1 || itype == 2 ){
SETSP1(&jj ,&itype,&x1,8x2,&110X,
&F time_ii, &memm,&mnbsb,&m_nstep,
F_n_spring,F_my spring,F_mz_spring,F_fay,
&F snp[mmx],&F_smyp[mmx],&F_smzp[mmx]) ;
pDC->SelectObject ( &NewPen);

if(x1L <= m_pst_ef2 && x2 <= m_pst_ef2 ) pDC->SelectObject ( &NewPenx_a[101]);
if(x1 >= m_pst_efl || x2 >= m_pst_efl ) pDC->SelectObject ( &NewPenx_a[106]);

Yelse{
SETSP2(&jj ,&itype,&x1,8%2,8x3,&11X,
&F time_ii, &memm,&mnbsb,&m_nstep,
F_n_spring,F_my spring,F_mz_spring,F_fay,
&F snp[mmx],&F_smyp[mmx],&F_smzp[mmx]) ;
pDC->SelectObject ( &NewPen);

iT(x1 <=m_pst_ef2 && x2 <= m_pst_ef2 && x3 <= m_pst_ef2) pDC->SelectObject ( &NewPenx_a[101]);
if(x1 >=m_pst_efl || x2 >=m_pst_efl || x3 >=m_pst_efl) pDC->SelectObject ( &NewPenx_a[106]);

}

pDC->MoveTo ( (int)F_bz[il], (int)F_bz[i1+1] );

pDC->LineTo ( (int)F_bz[i2], (int)F _bz[i2+1] );
}

if(m_pst_color == 1 && m_pst_options == 1 ){
int il,i2,i3,icol,mem,mmx, itype,ichi,mem_line;
float anp;
for( int i = 0; 1 < mnbsb; i++)
{
mem = imeme[i]-1;
mem_line = imeme_line[i];
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1/

1}

}
1/

1/
1/

if( m_pst_line[mem_line-1] == 1 ){

itype = mtype[mem];

ichi=1;

if(itype == 2 || itype == 4 ) ichi = 2;

mmx = 5*mem+ichi-1;

anp = F_snp[mmx];
STCLSP(&icol,&i,&F_time_ii,F_n_spring,&ichi,&mnbsb,&m_nstep,&anp);
pDC->SelectObject ( &NewPenx_a[icol]);

i3 = 1*2;

il = (iconsb[i3]-1)*2;

i2 = (iconsb[i3+1]-1)*2;

pDC->MoveTo ( (int)F_bz[il], (int)F bz[il+l] );
pDC->LineTo ( (int)F_bz[i2], (int)F _bz[i2+1] );

if(m_pst_color == 2 && m_pst_options == 1 ){

1/
//
1/

int 11,i2,i3,icol,mem,ichi;

float xx1,yyl,xx2,yy2,x1,x2,X3;

int meml, itype,mmx,jj,iix,memm,mem2;
iix =1;

1i=3;

for( int i = 0; 1 < mnbsb; i++)

{

memm=i+1;

meml = imeme[i];

mem2 = imeme_line[i];

if( m_pst_line[mem2-1] == 1 ){

itype = mtype[meml-1];

mmx = 5*(meml-1);

i3 = 1*2;

il = (iconsb[i3]-1)*2;

i2 = (iconsb[i3+1]-1)*2;

xx1 = F_bz[il];

yyl = F _bz[il+1];

xx2 = F_bz[i2];

yy2 = F_bz[i2+1] ;

if(itype == 1 || itype == 2 ){

SETSP1(&jj,&itype,&x1,8x2,&11X,
&F_time_ii, &memm,&mnbsb,&m_nstep,
F_n_spring,F_my spring,F_mz_spring,F_fay,
&F snp[mmx],&F_smyp[mmx],&F_smzp[mmx]) ;

pDC->SelectObject ( &NewPen);

if(x1 <= m_pst_ef2 && x2 <= m_pst_ef2 ) pDC->SelectObject ( &NewPenx_a[101]);
if(x1 >= m_pst_efl || x2 >= m_pst_efl ) pDC->SelectObject ( &NewPenx_a[106]);

Yelse{
SETSP2(&jj ,&itype,&x1,8%2,8x3,&11X,
&F_time_ii, &memm,&mnbsb,&m_nstep,

SPACE




4-23

1

}

}
1/

1/
1/

F_n_spring,F_my spring,F_mz_spring,F_fay,

&F snp[mmx],&F_smyp[mmx],&F_smzp[mmx]) ;
pDC->SelectObject ( &NewPen);
if(x1 <=m_pst_ef2 && x2 <=m_pst_ef2 && x3 <=m_pst_ef2) pDC->SelectObject ( &NewPenx_a[101]);
if(x1>=m_pst_efl || x2>=m_pst_efl || x3>=m_pst_efl) pDC->SelectObject ( &NewPenx_a[106]);
}
pDC->MoveTo ( (int)F_bz[il], (int)F bz[il+l] );
pDC->LineTo ( (int)F_bz[i2], (int)F _bz[i2+1] );

pDC->SelectObject ( pOriginalPen);

void CSf31View: :disp_graph_4(CDC* pDC)

{

1/
1/
1/

1/
1/
1/

1/
//
1/

CPen NewPen (PS_SOLID,2,RGB(255,0,0));

CPen* pOriginalPen = pDC->SelectObject ( &NewPen);
int il,i2,i3,ns,itype;

float x1,yl,x2,y2;

if(m_pst_options == 0){
for( int i = 0; i < mnbsb; i++)
{
i3 = 1*2;
il = (iconsb[i3]-1)*2;
i2 = (iconsb[i3+1]-1)*2;
itype = mtype[imeme[i]-1];
ns=F_mtype[itype-1];
for(int j=0; j<ns; j++){
int nnx=5*i+j;

if(F_stat_spring[nnx] == 1){
SETSPG(&j ,&itype,
&F bz[il],&F bz[i1+1],&F bz[i2],&F bz[i2+1],&x1,&yl,&x2,8y2);
pDC->SelectObject ( &NewPenx_a[103]);
pDC->MoveTo ( (int)xl, (int)yl );
pDC->LineTo ( (int)x2, (int)y2 );
}

e 80

if(F_stat_spring[nnx] == 2){
SETSPG(&j ,&itype,
&F_bz[il],&F_bz[i1+1],&F bz[i2],&F bz[i2+1],&x1,8&y1,&x2,8y2);
pDC->SelectObject ( &NewPenx_a[105]);
pDC->MoveTo ( (int)xl, (int)yl );
pDC->LineTo ( (int)x2, (int)y2 );
}
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133
}
//
// [
//
if(m_pst_options == 1){
int mem,mem_line;
for( int i = 0; 1 < mnbsh; i++)
{
i3 = 1*2;
il = (iconsb[i3]-1)*2;
i2 = (iconsb[i3+1]-1)*2;
mem_line = imeme_line[i];
mem = imeme[i];
//
// [
//
if(m_pst_line[mem_line-1] == 1){
itype = mtype[mem-1];
ns=F_mtype[itype-1];
for(int j=0; j<ns; j++){
int nnx=5*i+j;
//
// L
//
if(F_stat_spring[nnx] == 1){
SETSPG(&j ,&itype,
&F bz[il],&F bz[il+1],&F bz[i2],&F bz[i2+1],8&x1,8&yl,8%2,8y2);
pDC->SelectObject ( &NewPenx_a[103]);
pDC->MoveTo ( (int)xl, (int)yl );
pDC->LineTo ( (int)x2, (int)y2 );
}
//
// e 80
//
if(F_stat_spring[nnx] == 2){
SETSPG(&j ,&itype,

&F bz[il],&F bz[11+1],&F bz[i2],&F_bz[i2+1],&x1,&yl,8&x2,8&y2);
pDC->SelectObject ( &NewPenx_a[105]);
pDC->MoveTo ( (int)xl, (int)yl );
pDC->LineTo ( (int)x2, (int)y2 );

}
11
pDC->SelectObject ( pOriginalPen);
}
©
© ®  SUBROUTINE /STCLSP
©
C e
©
Subroutine STCLSP(icol,ii,itime,spring,ichi,mnbsh,mnstep,an)
real*4 spring(5,mnbsh)
i=ii+l
icol=spring(ichi,i)/an*50.+50
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OO OO0

100

200

*

*

if(icol.lt.0) icol=0
if(icol.gt.100) icol=100
return

end

e  SUBROUTINE /SETSP1

subroutine SETSP1(jj,itype,x1,x2,mmemb,itime, mem,
mnbsb,mnstep,Fn,Fmy,Fmz,Fay,Fsnp,Fsmyp,Fsmzp)

real*4 Fn(5,mnbsb),Fmy(5,mnbsb),Fmz(5,mnbsb),
Fsnp(5) ,Fsmyp(5),Fsmzp(5),fay(5,mnbsh)

if(itype.eq.2)goto 100

if(jj.eq.0)then

x1=Fn(1,mem )/fsnp(1)

x2=fn(2,mem )/fsnp(2)

elseif(jj-eq.1)then

x1=Fmy(1,mem )/fsmyp(1)

x2=fmy(2,mem )/fsmyp(2)

elseif(jj-eq.2)then

x1=Fmz(1,mem )/fsmzp(1)

x2=fmz(2,mem )/fsmzp(2)

else

x1=Fay(1,mem )

x2=Fay(2,mem )

endif

goto 200

continue

if(jj.eq.0)then

x1=Fn(2,mem )/fsnp(2)

x2=fn(3,mem )/fsnp(3)

elseif(jj-eq.1)then

x1=Fmy(2,mem )/fsmyp(2)

x2=fmy(3,mem )/fsmyp(3)

elseif(jj-eq.2)then

x1=Fmz(2,mem )/fsmzp(2)

x2=fmz(3,mem )/fsmzp(3)

else

x1=Fay(2,mem )

x2=Fay(3,mem )

endif

continue

if(abs(x1).gt.2.) xl1=sign(2.,x1)

if(abs(x2).gt.2.) x2=sign(2.,x2)

if(mmemb.gt.0) return

xx1=x1

x1=x2

x2=xx1

return

end

disp_frame_w()
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F_pos[]
switch

m_dat_struct

RGB

m_dat_struct

0:
1:

m_pst_dis
2:

default:
RGB CBrush
disp_graph_5(0)
3
F_bz[]
m_pst_mss
pDC->Arc()
m_pst_mass = 1
m_pst_options
2 4-6
m_pst_options =1
m_pst_color =1
100
anp
for
mnbshb i imeme

pDC->Arc()
VC++
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anp STCLSPQ)
100 icol STCLSP(O)
icol pDC->SelectObject()

NewPenx_a[icol]

F_bz[]

m_pst_color == 2 && m_pst_options ==

SETSP1()
1] x1

SETSP1(&jj ,&itype,&x1,8x2,&110X,
&F time_ii, &memm,&mnbsb,&m_nstep,
F_n_spring,F_my spring,F_mz_spring,F_fay,
&F snp[mmx],&F_smyp[mmx],&F_smzp[mmx]) ;
pDC->SelectObject ( &NewPen);

if(x1L <= m pst_ef2 && x2 <= m_pst_ef2 ) pDC->SelectObject ( &NewPenx_a[101]);
if(x1 >= m_pst_efl || x2 >= m_pst_efl ) pDC->SelectObject ( &NewPenx_a[106]);

//
mem_line = imeme_line[i]; !
//
// [
//

if( m_pst_line[mem_line-1] == 1 ){
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m_pst_line
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disp_graph_4()

ns
F stat_spring()

80
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SETSPG()
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